Lesson 12 Worksheet

September 18, 2017

Find the derivative of the following functions using chain rule:

Questions:

1.
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F(x) = In(a?)
y = tan(t* — cost +7)

g(x) =
h(y) =
v(t) = t*\/csct
y = In(sin x cos x)
Va2 + 1n(4z + 1)

3rtanx
(bdx? — 1)*

(

y = tan(t? — cos(2t + 7))
(3z
(y*

Answers:

1.2

2. (2t +sint) - sec?(t* — cost + 7)

3. (2t +2sin(2t+7)) - sec?(t* — cos(2t + 7))
4. 93z +1)*(2? —1)* +8z(3x+1)3(2* - 1)3
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. 2ty/eset — 3t (esct) 2 cot t

cotx —tanzx

z In(4z+1) + 4241
V241 4x+1

(54z* — 1)(3tanx + 3z sec® x) — 12962% tan x
(542 — 1)5




